-2x+5="7-5x
DO -2x+5x=T74+5 @ -2x-5x=7-5
® -2x-5x=7+5 @ -2x+5x=-7-5

@—2)6—1—5)6:7—5

-2x+5x=7-5




+1=2 @ x+1=-x+1

@x2+3x:1 @2(x—1)=—1+2x

® x% +3x=1: "9 Faapgto] )7} oyt
@2x-2=-142x > 2x-2x = -1+2 - 0 = 1 (LA A 0]
ofytt.)
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2x—Xx
X =




ax+2 a(x-1
] n (x-1)

2

SELCERCLPER S
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5.

o § old< v =

rst

A2

@ 2%x—3=1 > 2x=1-3
@ 3x=5-2x »>3x-2x=5

® 2x=8+x - 2x+x=38
@5x+2=4 — bx=4-2

® 2x+1=-x+4-> 2x+x=4+1




@D 4x+5=9—>4x=9+5

© 5x+2=06x— 5x—6x=-2

© 3x+5=6x-8—>3x-6x=-8-5
® -2x+3=3x-2—>-2x-3x=-2+3

® x-1=-x+3->x+x=3-1

® 3,0 @ @,® ®o. e
®0©,0,0 ONCRCNE
@4x=9-5

® 2x-3x=-2-3
@x+x=3+1




H7
@ 4(1-x)-4x=0 O 2x+7=7+2x
© 1+x-x2=1-x2 ® 2=2x+ 3x?
@ 3x+8=2x+1

v V. v Vv
0
o ol
®

0x
n
@

~&B

M4 -4x-4x=0, - 8x+4=0
O2x+7-7-2x=0,0=0
©l+x—x2-14x2=0,x=0
@®2-2x-3x2=0
@3x+8-2x—-1=0, x+7=0




ohe LA A Fofl A 0.12x - 0.1 = 0.26 7} 37} 2 A2

® 3x-6= @)-2x+3=-3 ® x-2=11

@ x-5=8 ® 2x-6=10

0.12x - 0.1 = 0.26
12x - 10 = 26

12x = 36

Lx=3

@ —2x+3 = -394
—2x=-6, .. x=3
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:<|)L_[4
i

ohe gAY

0.2x+0.4=-0.17x-0.34

@ x=-3 (@)x:—?

@ x=0 ® x=1

oF o] 100 < J5H4A
20x +40 = -17x— 34
37x = -T4

Lx=-2




WAL 3x -5 =28-3x2 S|t x=a¥d

— 209 B2 7

13 13
o-p ©-3 ©-

, xof o

@ -5

7ot olzju}

‘— [e}

® -11

%

3x—-5=28-3x
30x — 50 = 28 — 30x

13

60x =78, x = T0
13
A= 15
13 _

ax+—:—2°ﬂa_1——%tﬂ?:}o]-1{ﬂ
13 3
EX—Fg -2
13 13

Al
=1



11.

o2 F HAA S 7 B x = -2 1, 42

2x—4 bx—-4 X
2 =4x+9 - =b-5
ax + x+9, 3 9 6
> E:
> me: -8
4
ax+2=4x+9° x =25 HAsIH
-2a+2=-8+9
—2a=-1
!
A=
2x—4 b5x—4 X =
—= :b—aoﬂx——ngi(ﬁs}?i
I U SR
3 2 6
8 1
s+ +3
b=4
1)2
2_p2—(Z2) —42
a (2)

~ 12 9] g Patolat.




~&B

—2x—-2=3x-3+5

- 2x=-3x=2+2




13. o= "A4e Szt

flo
i

6x — 14 = 2(5 + 6x) — 3

C} -
| —

3
> &E: x=-1

6x—14 =2(5+ 6x) — 3
6x—-14 =10+ 12x-3
6x—14=12x+7
6x—12x=T7+ 14

—6x =21
21

==

T
prmat




14. x+15=2x-a 9 7} x=4 <L 9, a 9] F2?

@—11 @ -10 @0 @ 10 ® 11

B

x+15=2x-a o x=4 5 HYSIH
4415=2x4-a

a=8-19

a=-11




saga 22 ol g
2 6
0l e

2a—|—x

=2x+ 19 57t 22 o,

®:

® 5

i) 3x-15-2x41=-12
T x=2

i) 2a+x=4x+2
2a = 3x+ 2
x=25 | ¢otH
T a=4




16.

(x—a) =42 L o, F= a 9] FL27

@® 3 ® 4 3 5 @6

~&B

(x-2) : (x+2)=1 : 3-& W=EsH= x 9 ho] WHAA] a(x—3)

(x-2) : (x+2)=1: 3
(x+2)=3(x-2)
xX+2=3x-6

x=4
a(x-3)

—(x—a)=40°] x=4Z2 Y5hH,




17. 54 2x+ax? -3 = x(a—x) 7 2o BE QAFHAL 1), 9] Zhah

g2 ] siE et = stofzt,

oL off

Ch "
H -

i

Vv Vv Y
0
L
N}
I
&

0
it

~&B ~

2x + ax? — 3 = 5x(a - x)

2x + ax® — 3 = bax — 5x?
(a+5)x* + (2-5a)x—3=0
a+5=0, a=-5
(2+25)x-3=0

27Tx =3

oo db = =

9




18. FFa, bl tetd aeb =3(a—b)+ab & o, T2 x2] FHS
F-stoet.

{6o(x-1}+{(2x-3)@2} =7

=
H -

SoH x:1

>
> MEt:

B

{o(x-1)}+{(2x-3)@2} =7
3{6-(x-1)} +6(x-1)
+{3(@2x-5)+2(2x-3)} =7
3(-x+7)+6x-6
+3(2x=5)+2(2x-3) =7
3x+154+10x-21="7

13x =13

Lx=1




19. thg T WAA L 7k AR 22 1, q o ge Fatelet
+

5(2x+1)=3(4x+3), 6-3x=-2(x—a)
> E
(D SI= |

5(2x+1) =3 (4x + 3)
10x+5=12x+4+9
2x = —4

x=-2

6-3x=-2(x—a)
6—3x=-2x+2a
6—x=2a
6+2=2a

a=414




@ 6 @)7 ® 8

-3 1- o] =
g A X790 2x+1, 2x+a=5x+1°] 89 gto] 5 ),

® 10

P2 g e solne

2x +a = 5x + 19] dfl&= 2 0]t}
2x+a=>5x+1° x=2 & tYdstH
a=1"7




